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Note :

H-175 P.T.0.

MATHEMATICS
Paper - li
(Calculus)

Time Allowed : Three Hours
Maximum Marks : 50

Minimum Pass Marks : 17
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One question is compulsory from each unit. All
questions having same marks
@R-1/ UNIT-I
deis wig TRl e Rz @A
State and prove that Leibnitz theorem.
Jgar OR
afy = (2 - 1) g B B
Yom = (2m) !
If y = (x¢ = 1)™ then prove that :

Yom = (2m) !
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so¥-II / UNIT-IL

Q. 2. T yx? + y2) + a2(x® — y?) = 0 @ gu

Trace the curve : .
y2x2 + y?) + a2(x2 -y} = 0
Jgqar OR
ab xd — 2% + xy? + ¥ —xy +2=0 &
saefifdt s S
Find the asymptotes of the following curve :
x3-219y+xy2+xz—xy+2=o
woi§-III / UNIT-III

Q3. WA Wa o

Ie’(xz +1]d
— _’dx

(1+ x)?

Evaluate :

Ie"(12+1)dx

(1+x)°

Jya OR

Rz @t :

n
lim| " -e
nawi N!
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Prove that
) -.1
|1 e
¥oT¥-IV / UNIT-IV
g o s
(1+x’]-§£+2w—4x’=u
Soive :
(1e22) L +2xy-axt -0
Jua OR
7 B -
(1+4xy +2y°) dx+ (1 +axy + 2% dy=0
Solve :
(1 +4xy +2y?) dx + (1 + dxy + 2x3) dy = O

-V / UNITV

Q5 & o

H-175

dy dy
CY 2x-02 i (x-1)y-0
X b Xy

P.T.0.
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Solve :
x:i—{Zx 1]e—+(x 1)y=0

Fuar OR
W P

dx 1
—+5x+y=e
dt + +'j

dy

-x+3y=e%
T
Solve :
%%1-5)«"!‘?:&[
%-n&y:ez‘
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